() 5,
45,
(eligible amount):
() 45,000/-
() 14, % 1,28,660/-
() 1, 0,00,000/-
(eligible amount) [( )
() () ] 45, |-
45, 15% (45, X %)=6,7
4 |-
_ 6,750/-
[ 114/-
y y y /-
%
(714 %)
/-
) /-
( ) ) /- % = y /'
() /- %=_, [
/_
(., 1)
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2,00,000
| (30, x
(15000x
_ (
(. x)
. %
A
( X)
(
X )
() *
() o

)
%)
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%

1 H /-
21,48,000/-



() ;o % -
() , % I
() , % N
() , % /-
= . /-
¥ (', 0,000 +5 ,000) =
, ,000
(eligible amount):
() 2,00,000/-
() % (21,48,000x 25%) T
() 1, 0,00,000/-
(eligible amount) [( ) ()
(), ] 2,00,000/-
(eligible amount)
2,00,000/- 1 % (200, x %)= 0
( y y - 0,0 ) = 2,9 ' 0
29, 0
% (29, 0x %)=29,
(29, 0+29, )=32,
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